12a9797 (K12ag727)

Linearized knot diagam

RN

3 8 9 10 11 12 1 2 7 6 b5 4

Solving Sequence

A knot diagranf]] 38 52 >0 >4 —>1—>7->10>5> 12> 6> 11> ¢5,C10
Ca Cg C3 €1 Cr C9 €4 C2 Cg Ci1

Ideals for irreducible component#ﬂ)f Xpar

=™ —u 4 fu—1)

* 1 irreducible components of dim¢ = 0, with total 78 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=@W®—u"+ .- +u—1)

(i) Arc colorings

e ()

o= (1)
= ()
u
a9: u3+u
w4+ ut+1
ag = \ 8+ 2ut + o2
u?
ap = U
u? +2ud +u
ar = 5+u +u
4u11 Tu? — 6u” —2u® +u
—ul3 —5u? — 4" — 2P +ud 4 u
—9u30+ 2u+1
—8uP0 - dut + 202
3uld — 548 —4u —ut+u+1
4u12 Tul0 — 6ud — 2ub 4 u?
—8u? + - +4ud + 2u
—9u 4+ 23+

—u"T =200 + - —2uP 4 u
all_ _u77+u76_~_..+u_1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™" — 4u"® + ... 4+ 24u® — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u Al —u 1
C2,C8 u® - fu—1
c3, C7 W+ —37Tu—53
C4,Cq w4 —3u—1
cs, €10, C11 W+ —3u—1
Cg, C12 u® =T+ 1Tu+5




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ Yy =Ty T+ =25y 41
C2,C8 y78+41y77+--~—y+1
cs,Cr Y™ —55y77 + .. — 132377y + 2809
C4,Cg Y — 43y 4 —y+1
€5, €105 C11 Yy +65y" +-—y+1
Co, C12 Y™ 45y -+ 351y + 25




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

= —0.578901 + 0.8206901

5.58025 — 9.666941

—3.02999 + 8.666701

—0.578901 — 0.8206901

5.58025 + 9.666941

—3.02999 — 8.666701

0.564180 + 0.8191461

0.77390 + 5.79656.1

—8.00000 — 7.458291

= 0.564180 — 0.8191461

0.77390 — 5.796561

—8.00000 + 7.458291

0.126915 + 0.9814841

—0.758555 — 1.0602101

—12.70969 4 0.1

= 0.126915 — 0.9814841

—0.758555 4 1.0602101

—12.70969 - 0.1

= —0.188582 + 0.9980581

—4.15960 — 2.632801

—15.9415 4 4.46961

—0.188582 — 0.9980581

—4.15960 + 2.632801

—15.9415 — 4.46961

0.586068 + 0.7705811

9.87181 + 2.313051

0.87298 — 3.508781

0.586068 — 0.7705811

9.87181 — 2.313051

0.87298 + 3.508781

= —0.524243 + 0.8022901

3.35909 — 2.092131

—4.14215 + 3.781281

—0.524243 — 0.8022901

3.35909 + 2.092131

—4.14215 — 3.781281

0.228006 + 1.0327901

0.23030 + 6.399571

0

= 0.228006 — 1.0327901

0.23030 — 6.399571

0

—0.536678 4 0.7633971

3.42631 — 2.164101

—2.80015 + 4.333241

—0.536678 — 0.7633971

3.42631 4 2.164101

—2.80015 — 4.333241

—0.587628 + 0.7129841

5.88785 + 5.057391

—2.00225 — 2.017421

= —0.587628 — 0.7129841

5.88785 — 5.057391

—2.00225 + 2.017421

0.566932 + 0.7112901

1.08131 — 1.286721

—6.69250 + 0.657591

0.566932 — 0.7112901

1.08131 + 1.286721

—6.69250 — 0.657591

0.436106 + 1.0770001

0.62586 + 6.518241

0

0.436106 — 1.0770001

0.62586 — 6.518241

0

0.794491 + 0.1827121

2.53319 — 10.669101

—4.99373 + 6.908031

= 0.794491 — 0.1827121

2.53319 4 10.669101

—4.99373 — 6.908031

—0.787999 + 0.1743701

—2.22038 + 6.647991

—9.69976 — 5.443551

= —0.787999 — 0.1743701

—2.22038 — 6.647991

—9.69976 + 5.443551

= —0.454756 + 0.6663761

3.63436 — 1.970581

—2.14073 + 3.774471

= —0.454756 — 0.6663761

3.63436 + 1.970581

—2.14073 — 3.774471

—0.336071 + 1.1548901

3.31959 + 0.076411

0

gl|f|R|g|g|g|g|e|f|g|g(g|g|g|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

—0.336071 — 1.1548901

3.31959 — 0.076411

0




Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.417832 + 1.1334201 —3.94716 — 3.626641 0
u = —0.417832 — 1.1334201 —3.94716 + 3.626641 0

u= 0.773320 + 0.1601431

0.56432 — 2.645201

—6.76601 + 1.682511

u= 0.773320 — 0.1601431

0.56432 4 2.645201

—6.76601 — 1.682511

u = —0.758374 + 0.2124501

7.37800 + 3.505041

—0.66245 — 2.817411

u = —0.758374 — 0.2124501

7.37800 — 3.505041

—0.66245 + 2.817411

u = 0.374455 4 1.1566501

—2.70435 + 0.704301

0

u = 0.374455 — 1.1566501

—2.70435 — 0.704301

0

u = —0.771864 4 0.0215401

—2.45068 + 4.038061

—9.57286 — 3.605851

u = —0.771864 — 0.0215401

—2.45068 — 4.038061

—9.57286 + 3.605851

u= 0.770221

—6.34762

—13.9660

u = 0.512327 + 1.1324301 1.51982 + 0.859531 0
uw = 0.512327 — 1.1324301 1.51982 — 0.859531 0
u= 0.369523 + 1.1887301 —3.41759 4 1.141721 0
u= 0.369523 — 1.1887301 —3.41759 — 1.141721 0

u= 0.733419 4 0.1766441

1.09971 — 2.879271

—4.76575 + 4.381241

u= 0.733419 — 0.1766441

1.09971 + 2.879271

—4.76575 — 4.381241

u = —0.356853 + 1.1938201 —6.31821 + 2.888781 0
u = —0.356853 — 1.1938201 —6.31821 — 2.888781 0
u = 0.349156 4 1.1964301 —1.62767 — 6.930961 0
u= 0.349156 — 1.1964301 —1.62767 4 6.930961 0
u = —0.498310 + 1.1426801 —3.33385 — 4.238391 0
u = —0.498310 — 1.1426801 —3.33385 + 4.238391 0

u = 0.153987 4 0.7364381

—0.528165 + 0.8948621

—9.40631 — 7.346031

u = 0.153987 — 0.7364381

—0.528165 — 0.8948621

—9.40631 + 7.346031

u = 0.694959 4 0.2563001

4.06421 + 3.750621

—2.75383 — 2.734971

u = 0.694959 — 0.2563001

4.06421 — 3.750621

—2.75383 + 2.734971

u = 0.508450 4 1.1630501 —1.75841 + 7.543291 0
u = 0.508450 — 1.1630501 —1.75841 — 7.543291 0
u = —0.524201 + 1.1608701 4.60438 — 8.304831 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.524201 — 1.1608701 4.60438 + 8.304831 0
u = —0.440440 + 1.1976101 —6.00210 — 0.272401 0
u = —0.440440 — 1.1976107 —6.00210 4 0.272401 0
u=0.449901 4 1.1966901 —9.82963 + 4.372681 0
u = 0.449901 — 1.1966901 —9.82963 — 4.372681 0
u = —0.458822 + 1.1962907 —5.87231 — 8.476611 0
u = —0.458822 — 1.1962901 —5.87231 4 8.476611 0
u= 0.513114 + 1.1780701 —2.41053 4 7.416421 0
u= 0.513114 — 1.1780701 —2.41053 — 7.416421 0
u = —0.520654 + 1.1799301 —5.17476 — 11.493501 0
u = —0.520654 — 1.1799301 —5.17476 + 11.493501 0
u = 0.524977 4 1.1800901 —0.4034 + 15.55191 0
u=0.524977 — 1.1800901 —0.4034 — 15.55191 0

u = —0.663438 + 0.2223021

—0.669046 — 0.2437711

—7.95579 4+ 1.303131

u = —0.663438 — 0.2223021

—0.669046 + 0.2437711

—7.95579 — 1.303131

u = 0.523024 4 0.3137621

2.74897 — 2.615731

—2.67127 + 3.035941

u= 0.523024 — 0.3137621

2.74897 + 2.615731

—2.67127 — 3.035941

u = —0.525544

—0.955751

—10.6020




II. u-Polynomials

Crossings u-Polynomials at each crossing
! w4 4 —u 1
Co,C8 u T =1
cs3,Cr u™ 4" 4~ 37Tu — 53
C4, C6 u® — w4 —3u—1
c5,C10, C11 W+ —3u—1
Cg, C12 u =T+ 4+ 1Tu+5




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y™® =Ty =25y + 1
C2,C8 y Ay —y+1
¢s, Cr y™® — 55y T + .- — 132377y + 2809
C4, C6 Y =43y o~y 1
Cs5,C105 C11 Y465y o —y 1
Co, C12 Y™ 4+ 45y" " + -+ 351y + 25




